RD Sharma
Solutions
Class 12 Maths
Chapter 19
Ex19.32



1

Let I=[M—2¥mdx
1
Let I-jw—xmdx

Let 2% +3=¢7
= 2dy = 28IE
t ot

2
=3 oy
2
rla
t? - %

I=]

=2

P &2

Thus,

iog 25+ 3 «f_
NerscpN

FEEgmis

@

Indefinite Integrals Ex 19.32 Q3




let J-[— 1 g«

(% —1)x +2
(¥ -1)+2
f=|— <  dx
Il{x—lj\.w+2
ax o i
+2 - (&
g+ 2 I(x—qufx+2 (4)
[ 0w,
o
=28 +2 4+
= 1
and,
ax
( 1)alx +2
Letx +2 = 2
= = 2idt
(e it Ht at
=z =2
I(x-l)afxw I(t2-3)r I
=Exlo
242 t+-..|"_
=i;’ggﬂ+
-ﬁ XN+ 2 +.3
Thus, form [4),
I =2 +2 4+ + alt \'I'_
J_ W+ 2+
Hence,
F=2-%+2 + 2 log xre
'\E '\|IIX+2+'\|I'_

Indefinite Integrals Ex 19.32 Q4



Let I=j[x_1)mdx
[x2—1+1)
= fris
(% -1)~fx +2
_ [x+1)0(x-1) a
_I(X—l)\n'x+2dx+l(x—1)\fx+2
~ [ +1) e
l-.fx+2d +l(x—1)Jx+2
_ [#+2)-1 i
=) N H(x 1 +2
dx
I_IWG‘X_IJ +2 I(x—l)\fx+2
N 0w,

2

[+ + 2 =—(X+2)§+cl

and,
| i = 2afx +2 +Co
N+ 2
| ax
[ = 1)ad + 2
Letx +2=¢2
I:? dy = 263t
ol fors
2 2
l{t2—3)t ltz-a
|l L) I
NI I -1
| ax L iog W+ 2
7 -1)w+2 J_ «l'x+2+J_

Thus, farm [4)

2 N+ 2
I=—[(x+2 2—2-|"X+2+—."O
3( ) Nz gﬁl'x+2+yr

Indefinite Integrals Ex 19.32 Q5

[when ¢ =c) +c; +c5]



. S—
[ =3)dw +1
I Gl R
I(X—BHX+1 "
_odx o
I_IJX+1+SI|IX—3]JX+1

Let [= e ls

Mo,

[ ax =2fn +1 40

X+

]

and,

[ il =Zx +2 40y

X+

b

i
(X—Bjn..l'x+1
Letx +1=¢t%

= dw = 26t

I

f lrr's - Holt
(5 - F)fx +1 (r2—4)t
at
—
t2—4‘
R fo zL_2+c
T oz rra T2
v i's =l."|:|g WX+ _2+Cz
(- +1 2 e +142
Thus, form (&)
I=z X+1+E."og verl-2 . [whenc=cy +c;]
2 Wy 142

Indefinite Integrals Ex 19.32 Q6



Es
Let J=[——
[x2+1)-\.'r;
Lety = 2
= dy = 263t
o) ot
[t2+1)t
ot
=2
el

Dividing numerator and denominatar by ¢
t

=
r=2j—t gt

[ )
NEEE)
[* *rz]
I I 5

2 2
t—l +2 1+l - 2
¥ t

Let ¢ - E =z
t
= [1 + tiz]a‘t =dz [Far Ist part]
and,
t+—=¥
= [1 - tlz]a‘t = dy [For IInd part]

dz dy
I = -
I22+2 [yz—z

o (&) 2ro o E

+C

1 |X+1— 2N

tan! -1 log
«Et 2«4"5 |X +1+ \9527

+C

o R

Indefinite Integrals Ex 19.32 Q7



x
i I{)«’2+2X +2)a\."x+ldx

Letx +1=¢#°
=5 dy = 2HE

Let

{tz—l)m't
T S S
[£4+ 1)
(2 - 1) at
[ LS
{t4+1)
1
e
t2+ti2
[1-%2}:&
=2 .
[t+l]—2
t
1_
Lett+?-y
= {1_1“_2Jdt dy
2 dy
I Elyz-z
ool -A2), .
g
Thus,
f=i e J—t
N +1+'\,|I'_t
Hence,
I=i |x+2— 2 (% +1) e

|x+2+.ull2[x+1:|

Indefinite Integrals Ex 19.32 Q8



1 (ria

Indefinite Integrals Ex 19.32 Q9




YWhen t=L
X+1

]



Indefinite Integrals Ex 19.32 Q11

X

I=I{x2+4)~..n'rxz+ldx

Let x2+1=u°

= 2xdx = 2udu
I=[——du
[u2+3)u
=1 u21+ Edu
= % tan~! k%] +.1Z

1 KT+ 1
= —tarn~} ]+C‘

Indefinite Integrals Ex 19.32 Q12



Let 7 =] 1 ax
[1+X2)'q'r1—)(2
Letx=l
t
1
= G‘X=——2dt
¢
BRI
T
=1 1 1
[?”]«f[l‘rz]
it

= _j—
[t2 + 1) JZo1
Let #9-1=u”
= 2HIE = 2udu

LA
_I!"'_
{u2+2)u
y L
T S
=——tan'1[iJ+c
2T E
-1
= -—tan~! +c
2 [ 2 ]
Thus,
1 S| 1= %2
I=-—tan +C
u'E 252

Indefinite Integrals Ex 19.32 Q13



Let = | 1 ax
{Exz + 3) u'rxz -4
Lety = l
+
= a‘x=—t—2dt
- lat
t
1=
2 1
(F”N[?z“‘}
vk

o [2 +32)J1- 422

Let 1- 4% = u?
= —Btdt = 2udu

I=Ej L

Hence,

. 58
E 3

NEw _1|
J_M ax 2 —12|

Indefinite Integrals Ex 19.32 Q14



k1t

=I{x2+4}~,l'x2+9

Let x2 +0=u°

= 2wdy = 2udu
U
I= adu
I{uz—E)u
oy au
-
_ 2 log iy \E
2\@ ku+—\.’5_

I
o
Tal






